Tutorial

Q1: Determine whether each diode in Figure 1 is forward-biased or reverse-biased
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(@) The diode is reverse-biased. () The diode is forward-biased.
10 kQ 10 kQ
_AAA
YWy L
1.0 kQ =
- 1.5k :: 47KQ -
0V — p 2
- 47k0Z
(¢©)  The diode is forward-biased. (d)  The diode is forward-biased.
Figure 1

Q2: Draw the output voltage waveform for the circuit in Figure 2 and include the voltage values.
Calculate the peak forward current through the diode.
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Q3: Determine the peak and average power delivered to RL in Figure 3.
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Q4: Consider the circuit in Figure 4.
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Figure 4

‘a) What type if circuit is this? Center-tapped full-wave rectifier

b) What is the total peak secondary voltage? Votseo = (0.25)(1414)110 V=389V

‘c) Find the peak voltage across each half of the secondary.
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d) Sketch the voltage waveform across Ri.
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Figure 5

Q6: Determine the output voltage waveform for each circuit in Figure 6.
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Q7: A full-wave rectifier produces an 80 V peak rectified voltage from a 60 Hz ac source. If a 10
uF filter capacitor is used, determine the ripple factor for a load resistance of 100 k<.
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Q8: Describe the output waveform of each circuit in Figure 8, Assume the RC time
constant is much greater than the period of the input.

I
o . e o
o I\ A sine wave with a positive peak at 0.7 V,
e gt R v, Aanegativepeakat-7.3V, and a dc value of
4V -33V.
o ® + o
\
o 1) » * -0

A sine wave with a positive peak at 29.3 V,
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